Two Way Analysis of Variance	Monday, April 30, 2018, 1:39:23 PM

Data source: Day7 in AgNO3 - Day 7

Balanced Design

Dependent Variable: Accumulation 

Normality Test (Shapiro-Wilk): 	Passed	(P = 0,621)

Equal Variance Test (Brown-Forsythe):	Passed	(P = 0,478)

Source of Variation	 DF 	 SS 	 MS 	  F 	  P 	
Temperature	1	0,0253	0,0253	4796,053	<0,001	
Ag concentration	2	0,0808	0,0404	7658,663	<0,001	
Temperature x Ag concentration	2	0,0864	0,0432	8184,916	<0,001	
Residual	12	0,0000633	0,00000528			
Total	17	0,193	0,0113			


Main effects cannot be properly interpreted if significant interaction is determined. This is because the size of a factor's effect depends upon the level of the other factor.

The effect of different levels of Temperature depends on what level of Ag concentration is present.  There is a statistically significant interaction between Temperature and Ag concentration.  (P = <0,001)

Power of performed test with alpha = 0,0500:  for Temperature : 1,000
Power of performed test with alpha = 0,0500:  for Ag concentration : 1,000
Power of performed test with alpha = 0,0500:  for Temperature x Ag concentration : 1,000

Least square means for Temperature : 
Group	Mean	
20	0,0848	
15/25	0,160	
Std Err of LS Mean = 0,000766

Least square means for Ag concentration : 
Group	Mean	
10,000	0,199	
20,000	0,133	
40,000	0,0355	
Std Err of LS Mean = 0,000938

Least square means for Temperature x Ag concentration : 
Group	Mean	
20 x 10,000	0,0753	
20 x 20,000	0,179	
20 x 40,000	0,000	
15/25 x 10,000	0,322	
15/25 x 20,000	0,0863	
15/25 x 40,000	0,0710	
Std Err of LS Mean = 0,00133


All Pairwise Multiple Comparison Procedures (Holm-Sidak method):
Overall significance level = 0,05

Comparisons for factor: Ag concentration within 20
Comparison	Diff of Means	t	P	P<0,050		
20,000 vs. 40,000	0,179	95,427	<0,001	Yes		
20,000 vs. 10,000	0,104	55,266	<0,001	Yes		
10,000 vs. 40,000	0,0753	40,161	<0,001	Yes		


Comparisons for factor: Ag concentration within 15/25
Comparison	Diff of Means	t	P	P<0,050		
10,000 vs. 40,000	0,251	133,812	<0,001	Yes		
10,000 vs. 20,000	0,236	125,637	<0,001	Yes		
20,000 vs. 40,000	0,0153	8,174	<0,001	Yes		


Comparisons for factor: Temperature within 10
Comparison	Diff of Means	t	P	P<0,050		
15/25 vs. 20	0,247	131,501	<0,001	Yes		


Comparisons for factor: Temperature within 20
Comparison	Diff of Means	t	P	P<0,050		
20 vs. 15/25	0,0927	49,402	<0,001	Yes		


Comparisons for factor: Temperature within 40
Comparison	Diff of Means	t	P	P<0,050		
15/25 vs. 20	0,0710	37,851	<0,001	Yes		
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